
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

9518, 5 × 0.001 = ________ 1601, 6 × 0.0001 = ________

6871, 8 × 0.0001 = ________ 4357, 3 × 0.01 = ________

5906, 4 × 0.0001 = ________ 5248, 3 × 0.001 = ________

7736, 4 × 0.0001 = ________ 4207, 7 × 0.01 = ________

7515, 2 × 0.0001 = ________ 1236, 5 × 0.1 = ________

5739, 2 × 0.1 = ________ 6272 × 0.001 = ________

3634, 4 × 0.0001 = ________ 6631 × 0.01 = ________

3146, 5 × 0.01 = ________ 9753, 7 × 0.1 = ________

8895, 2 × 0.001 = ________ 1332, 9 × 0.01 = ________

2632 × 0.001 = ________ 9944, 2 × 0.0001 = ________
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